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A bicycle has a regular price of $175. It is on
sale for 20% off.

Which of the following is closest to the total
cost, including 13% tax?

a $140
b s158
c S163
d S168
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A wire is attached from the top of a 10 m
pole o a spot on the ground 4 m away from
the base of the pole, as shown below.
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Which of the following is closest to the
length of the wire?

a 1lm
b 14m
20m

°

d 28m
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Look at the following diagram.
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Complete the chart below with the values of x and y. Justify your answers using geometric
properties.
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What s the value of x in the diagram below?

146° 125°

91°
89
55°




image10.png
Which of the following is true about
Oscar’s trip?

The beach is 10 km from Oscar’s home.

His speed riding to the beach is
0.25 km/min.

His speed riding home from the beach
s 1.7 kn/min.

He stays at the beach for 25 minutes
before he returns home to get sunscreen.
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Oscar rides his bicycle to the beach along
a straight road. While at the beach, he
realizes he has forgotten his sunsereen and
returns home.

The graph below shows information about
his trip.
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Which of the following is true about
Oscar’s trip?
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Each of the three points on the grid below
gives information about the altitude of a

‘ot air balloon at a certain time.
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If the relationship between altitude and time
is linear, what was the altitude of the

‘balloon at 4 minutes?
a 1250m
b 1500m
c 1750 m

d 2000 m
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What value of x makes the equation
4x — 5=—6x + 15 true?
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An equation representing the height of 2
‘buming candle is /= 2d — 3¢, where

« His the height, in centimetres,
« dis the diameter, in centimetres, and

« tis the amount of time that the candle has
been burning, in minutes.
A candle has a diameter of 6 cm.

If the candle burns for 2 minutes, what
will its height be?
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The cylinder pictured below has a volume of 807 cm.

—5.2 cm—

The formula for determining the volume of a cylinder is
v=nrh,

where 7 i the radius and / is the height.
Determine the height of the cylinder.
Show your work.
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‘The figure below is made of a square-based
prism and a cone.

18cm

———14cm—

Which of the following is closest to the
volume of the figure?
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Two stores are advertising specials on apples.

Store A Store B
8 apples for $4.40 12 apples for $5.76
Apples are sold individually.

How much less would 30 apples cost at Store B than at Store A?

Justify your answer.
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